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Infinitive  Participle 
A ~}z�u  (pres) �M� �`�

 (aor) 
 A ��4�%�<�

 

�4�
�9�}�  

�
�4�%�<�  

M �-�Y���   M �9� �4�<� �|�>�|�}�  
 
The MI verb conjugation system only applies to the 
present and aorist tense systems.  The MI verb endings are 
simply the personal endings, without any tense suffix. 
 
Reduplication.  MI verbs reduplicate in the present stem 
by prefixing the initial stem consonant plus iota.  For �S�)���Y�4 

, rough breathing takes the place of sigma. 
 
Lengthening. (A) When: (1) Present system: bold face 
endings above indicate that the preceding stem vowel is 
lengthened. (2) Aorist system:  In the aorist active, the 
stem vowel is generally lengthened.  Exceptions are the 
subjunctive and optative; aorist imperatives also usually 
use the short stem vowel. (B)How: 
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Contraction. - ²)³>´ intervocalic ²  elides and contraction 
occurs except in the present system.  - µ  is used as a present 
imperative contracting ending. 
 ¶

 forms.  MI verbs use the · endings in the subjunctive.  
Contraction occurs, which almost always results in the 
stem vowel being absorbed, except for ¸�¹  and º)»½¼  ¾À¿ Á<ÂÄÃÆÅÈÇ}¿ Á<ÉÄÃÆÊÌËFÍÏÎ

 forms also tend to occur in the 
singular active indicative.
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send 
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know 
(have 
seen) 

`�a>bdcAe  (perfect) f/g%h�iYj
 (pluperfect) k*lnm
o3p�q�r  (future perfect) s7t

put, 
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set 
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* 1st aorist endings (with ¥  instead of ¦ ) are used in the 
aor. act. ind. of §*¨/©£ª>«A¬
§n­!®/ª�«A¬d¯%°A±!ª>«A¬ and ²/³>´�µ   All 
other forms from the 3rd principle part follow the MI 
pattern. 
* ¶¸·/¹ º/»%¼  is intransitive in the perfect and second aorist. 
Hence ½ ·/¹�º�· ´  = “ I caused to stand.” ¾*¿/À�Á�Â  = “ I stood.”  
The future perfect is ÃDÄ/ÅÇÆÉÈFÊÌË
* Í�Î¸Ï!Ð  has the following (perfect) forms: ÑÓÒÕÔ/ÖØ× subj) Ù*Ú�Û�Ü (imp) ÝÓÞÕß/à*á�â�ã (inf) äÓåÕæ/ç�è  (ppl)

 


